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If an accentric factor of ω = 0.908 that was found using our approach in Problem 3, then the 
optimal δij = kij was found to be 0.061.  This is almost the same as the previous result.  The 
following graphs show how the sum of the square of the errors varies with the binary interaction 
parameter, and also shows where the sum of errors is minimized.  The final figure shows how the 
mole fraction of caffeine varies with pressure for the optimized binary interaction parameter.  
The curve is in excellent agreement with the experimental data points. 
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